—_ A~ . TEI-D
EATYN—RR4F BXFE oo s
128108 ()
=% /\EHE & 4 &
ATJOv2D | WDF | AR 30 FE B | D |ma || BH1% 800 PUL7 =Y
WDF 1 900 | B | /\#Ht | ;AEFET | ALIRER ER0
ALORTD 2 930 | A | WHF | fuged | /\&HE | FBFEZ
AZRD 3 1000 | A EF0 HRE WDF ALIEFE
HE 4 1030 | B | /\&tdb | /\&t& EF0 HE
=z J\EIE & 4 & 5 11:00 | A | WOF EF0 J\EHIL | /\&fEE
BDJOwD | J\&Ht | BB | J\BTF8 |#s| 8|5 ma| e |we 6 11:30 | A | #LIRFE RE WanF R0
J\EH1L 7 1200 | B |@HHET | /\&Fd8 | FLixeE HE
e 8 1230 | A | WOF HRE | ATET | /\Ee
J\&t78 9 1300 | A | #LIRFE 70 WDF HE
=% FHER & 2 6
CTJ0Owvw?D | Sna | BHE | INZT—5 |8 8| D |ms| | mo BI1% 800 XUE =Y
=]y 1 900 | C | B8na | BHF J\& | ELPR
BHE 2 930 | D Pi[ES J\&F =20a | BHE
N_—4 3 1000 | D | PR |Fex- 21| A J\&F
A% FhER g8 2 & 4 1030 | C | BnE | hRZ—4% | SLUPR | Fex - S0
DJOwvoD PR J\EF | IR | FEE - S0 5| 8| D |mn| e 5 11.00 | D BE | SWdR| Bng | RZ—4
s ) 1130 | D J\&F | FExR-2e| AR ZEpR
J\&F 7 1200 | C | BHE |MZ—5 | /\&F |FEx-=0
E{hR 8 1230 | D R |FE=-ze| 8HES | RZ—4
FheR « E 9 1300 | D J\& | ELPR| AE |FeEx-su




